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SPECIMEN PAPER MARK SCHEME
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2x2 +7x +6  = (x + 2)(2x + 3)
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(a)
f –1(x) = 
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3.
(i)
e2x + 3 = 6




2x + 3 = ln 6
M1



x = 
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(ii)
ln (3x + 2) = 4




3x + 2 = e4
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4.
(i)
u = x3  
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v = e3x  
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u = 2x  
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v = cos x 
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(iii)
u = tan x     
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(iv)
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x = cos u    
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5.  (a) (i)
sin (A + B) – sin (A – B) 




= sin A cos B + sin B cos A – sin A cos B + sin B cos A
M1



= 2 sin B cos A
(*)
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(ii)
cos (A – B) – cos (A + B)




= cos A cos B + sin A sin B – cos A cos B + sin A sin B
M1



= 2 sin A sin B 
(*)





A1 cso           (2)


(b)

[image: image25.wmf](

)

(

)

(

)

(

)

B

A

B

A

B

A

B

A

+

-

-

-

-

+

sin

 

cos

sin

sin

 = 
[image: image26.wmf]B

A

A

B

sin

 

sin

 

2

cos

 

sin

 

2


M1



= 
[image: image27.wmf]A

A

sin

cos


A1                 



= cot A
       (*)






A1 cso           (3)


(c)
Let A = 75( and B = 15(
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6.
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B1 shape
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any translation
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B1 points
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7.
(a)

B1 shape 

B1 x-intercept
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(b)
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the line passes through (e, 1) so 1 = e
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(c)
All lines y = mx  passing through the origin and having a gradient > 0 lie above the x-axis.




Those having a gradient < 
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y = 
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(d)
x0 = 1.86




x1 = 
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(e)
When x = 1.8575,  ln x – 
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8.
(a)
4 sin ( – 3 cos ( = R sin ( cos ( ( R cos ( sin ( 




sin (  terms give 4 = R cos (




cos (  terms give 3 = R sin (




tan ( = 0.75
M1



( = 36.9o
A1



R2 = 42 + 32 = 25 ( R = 5
M1 A1           (4)


(b)
5 sin (( – 36.9o) = 3




sin (( – 36.9o) = 0.6
M1



( – 36.9o = 36.9o , 143.1
A1 M1



( = 73.7o  , 180(                                                                                  awrt 74(
A1 A1           (5)


(c)
Max value 5
B1                 (1)


(d)
sin (( –36.9o) = 1
M1



(  ( 36.9( = 90(




( = 90( + 36.9( = 126.9(
A1                 (2)
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